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1. If (1 + 𝑥)15 = 𝐶0 + 𝐶1𝑥 + 𝐶2𝑥2+. . . +𝐶15𝑥15, then 𝐶2 + 2𝐶3 + 3𝐶4+. . . +14𝐶15 is equal to 
 a) 14.214 b) 13.214 + 1 c) 13.214 − 1 d) None of these 
2. If the coefficients of second, third and fourth terms in the expansion of (1 + 𝑥)2𝑛 are in A.P., then 
 a) 2𝑛2 + 9 𝑛 + 7 = 0 b) 2 𝑛2 − 9 𝑛 + 7 = 0 c) 2 𝑛2 − 9 𝑛 − 7 = 0 d) None of these 
3. If |𝑥| <

1

2
, then the coefficient of 𝑥𝑟 in the expansion of 

1+2𝑥

(1−2𝑥)2, is 

 a) 𝑟2𝑟 b) (2𝑟 − 1)2𝑟 c) 𝑟22𝑟+1 d) (2𝑟 + 1)2𝑟 
4. (

30
0

) (
30
10

) − (
30
1

) (
30
11

) +. . . (
30
20

) (
30
30

) is equal to 

 a)  30𝐶11 b)  60𝐶10 c)  30𝐶10 d)  65𝐶55 
5. If (1 − 𝑥 + 𝑥2)𝑛 = 𝑎0 + 𝑎1𝑥 + 𝑎2𝑥2 + ⋯ + 𝑎2𝑛𝑥2𝑛, then 𝑎0 + 𝑎2 + 𝑎4 + ⋯ + 𝑎2𝑛 is equal to 
 

a) 
3𝑛 + 1

2
 b) 

3𝑛 − 1

2
 c) 

3𝑛−1 + 1

2
 d) 

3𝑛−1 − 1

2
 

6. If 𝐶0, 𝐶1, 𝐶2, … … 𝐶𝑛 denote the binomial coefficient in the expansion of (1 + 𝑥)𝑛, then 

𝐶0

𝐶1

2
+

𝐶2

3
+. . . +

𝐶𝑛

𝑛 + 1
 is equal to 

 
a) 

2𝑛+1 − 1

𝑛 + 1
 b) 

2𝑛 − 1

𝑛
 c) 

2𝑛−1 − 1

𝑛 − 1
 d) 

2𝑛+1 − 1

𝑛 + 2
 

7. If the ratio of the 7th term from the beginning to the seventh term from the end in the expansion of 

(√2
3

+
1

√3
3 )

𝑥
 is 

1

6
 then 𝑥, is 

 a) 9 b) 6, 15 c) 12, 9 d) None of these 
8. If in the expansion of (𝑥3 −

1

𝑥2)
𝑛

, 𝑛 ∈ 𝑁, sum of the coefficients of 𝑥5 and 𝑥10 is zero, then 𝑛 = 

 a) 5 b) 10 c) 15 d) 20 
9. 

The range of the values of the term independent of 𝑥 in the expansion of (𝑥 sin−1 α +
cos−1 α

𝑥
)

10

, α ∈

[−1,1] is 
 

a) [
 10C5 ∙ π10

25
, −

 10C5π10

220
] b) [−

 10C5 ∙ π10

25
,
 10C5 ∙ π10

220
] 

 
c) [

 10C5 ∙ π5

25
,
 10C5 ∙ π5

220
] d) [−

 10C5 ∙ π5

25
,
 10C5 ∙ π5

220
] 

10. (
30
0

) (
30
10

) − (
30
1

) (
30
11

) +. . . + (
30
20

) (
30
30

) is equal to 

 a)  30𝐶11 b)  60𝐶10 c)  30𝐶10 d)  65𝐶55 
11. The 𝑟th terms in the expansion of (𝑎 + 2𝑛)𝑛 is 
 

a) 
𝑛(𝑛 + 1) … (𝑛 − 𝑟 + 1)

𝑟!
𝑎𝑛−𝑟+1(2𝑥)𝑟 b) 

𝑛(𝑛 − 1) … (𝑛 − 𝑟 + 2)

(𝑟 − 1)!
𝑎𝑛−𝑟+1(2𝑥)𝑟−1 

 
c) 

𝑛(𝑛 + 1) … (𝑛 − 𝑟)

𝑟 + 1
𝑎𝑛−𝑟(𝑥)𝑟  

d) None of the above 

12. The coefficient of 𝑡24 in the expansion of (1 + 𝑡2)12(1 + 𝑡12)(1 + 𝑡24) is 
 a)  12𝐶6 + 2 b)  12𝐶5 c)  12𝐶6 d)  12𝐶7 
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13. The coefficient of 𝑥𝑛 in the expansion of 
(1+𝑥)2

(1−𝑥)3, is 

 a) 𝑛2 + 2𝑛 + 1 b) 2 𝑛2 + 𝑛 + 1 c) 2 𝑛2 + 2 𝑛 + 1 d) 𝑛2 + 2 𝑛 + 2 
14. The sum of the coefficient in the expansion of (1 + 𝑥 − 3𝑥2)3148 is 
 a) 8 b) 7 c) 1 d) −1 
15. If 𝐶𝑟 stands for  𝑛𝐶𝑟, then the sum of first (𝑛 + 1) terms of the series 𝑎 𝐶0 − (𝑎 + 𝑑)𝐶1 + (𝑎 + 2𝑑)𝐶2 −

(𝑎 + 3𝑑)𝐶3 + ⋯, is 
 a) 

𝑎

2𝑛
 b) 𝑛 𝑎 c) 0 d) None of these 

16. The value of 
183+73+3∙18∙7∙25

36+6∙243∙2+15∙181∙4+20∙27∙8+15∙9∙16+6∙3∙32+64
, is 

 a) 10 b) 1 c) 2 d) 20 
17. The coefficient of 𝑥5 in the expansion of (1 + 𝑥2)5(1 + 𝑥)4, is 
 a) 30 b) 60 c) 40 d) None of these 
18. If 𝑛 = 5, then 

 (𝑛𝐶0) 2 + ( 𝑛𝐶1) 2 + ( 𝑛𝐶2) 2+. … + ( 𝑛𝐶5) 2 is equal to 
 a) 250 b) 254 c) 245 d) 252 
19. The coefficient of 𝑥50 in the expression (1 + 𝑥)1000 + 2 𝑥(1 + 𝑥)999 + 3 𝑥2(1 + 𝑥)998 + ⋯ +

1001 𝑥1000 is 
 a)  1000𝐶50 b)  1001𝐶50 c)  1002𝐶50 d)  1000𝐶51 
20. For |𝑥| < 1, the constant term in the expansion of  

1

(𝑥 − 1)2(𝑥 − 2)
 is 

 a) 2 b) 1 c) 0 
d) −

1

2
 

 
 


